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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
KaTioxxancbxe 2 4 0,9 - - - 10C3+]13 58 0,7 1 20 24 280 2 BuOipkoBa | Tlomxomxkents 30 3TiHO
KaTioxaneske 7 9 1,8 - - - 10Ca+bn+I3 106 0,7 1 29 36 460 2e caHitapHa | crosGyposumu 45 Marepiaie
Katioxancnke 7 20 1,9 - - - 8C32/13+bn 121 0,60 )il 27 36 330 2e pyOKka IIKi AHUKAMH 45 JUCBIOPSAKYBAHHS
Katioxadceke 9 4 10,0 - - - 4134C32B+ 3 111 0,7 I 28 40 360 2e e - 35 HE BHSBJICHO
KatioxaHceke 9 7 53 - - - 10C3+(3+bn+0c¢ 81 0,7 1 26 32 410 2e < = 20 e
Katioxanceke 10 14 5,6 - - - 10Cs+/I3+bn 63 0,8 1 22 28 360 2e - - 20 B
Katioxauceke 1 4 3,5 - - - 8C32bn+]I3 91 0,7 I 27 32 340 2e B e 20 -
Katioxanceke 11 13 2,7 - - - 7C33bu+/I3 66 0,80 1 23 28 300 2e B = 20 “
Katioxkadceke 11 18 1,0 - - - 9C31bn 91 0,70 1 28 36 400 2e = s 20 “
Karoxancpke 11 24 1,9 - - - 10C3+13+Bn 33 0,70 i 24 28 390 2e R B 22 .
Katioxaucbke 12 16 10,5 - - - 10Ca+3+Bn 91 0,75 1 26 32 420 2e s = 48 &
Katioxkancske 12 25 1,8 - - - 10C3+]13 81 0,70 I 25 32 380 2e = - 48 <
KaTioxaHchke 14 20 18,5 - - - 10C3+]13+Bn 77 0,70 1 25 28 380 2e ~a B 45 <
KatiosxxaHChKe 16 1 1,2 - - - 6C33/[31bn 66 0,70 1 22 28 280 2e = B 45 “
Karioxauceke 16 2 16,0 - - - 9C31Bn+/13 61 0,70 I 20 24 270 2e Pl =S 20 <
Katioxanceke 16 3 3,7 - - - 8C31[I31bu 91 0,70 1 26 32 330 2e = - 22 £
KatioxaHchke 16 6 2,0 - - - 7C33bn 46 0,70 I 18 20 200 2e e - 37 “
Katioxaucoke 16 11 32 - - - 6C34Bnt+Oc+/13 66 0,70 1 24 28 270 2e < £ 20 .
Katioxanceke 16 17 15,0 - - - 9C31bn+/I3 61 0,80 I 21 24 320 2e P B 20 <




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Katroxancexe 19 33 0,1 - - - 9C31Bn+/13 61 0,40 1A 23 28 220 2e BHOIpKOBa | Iomkomkenns 40 3rigHo
KatrokaHnchke 22 14 0,8 - - - 10C3 66 0,70 1 22 28 320 2e caHiTapHa | crosGyposumu 45 Matepianis
Kamiokancbke 27 8 2,7 - - - 10C3+[I3+bn 66 0,70 1A 25 28 380 2e pyOka LI HAKAME 28 JICBIIOPSAKYBAHHS
Karroxxanceke 27 14 1,1 - - - 10C3+Co+/13+bn 56 0,70 IA 22 28 330 2e o s 28 HE BHSIBJICHO
Karroxanceke 29 5 2,5 - - - 10Cs+3 91 0,70 1 26 32 400 2e = - 20 -
KaTroxkancexe 29 10 7.5 - - - 10C3+13+bn 91 0,70 I 27 32 430 2e =a =5a 22 B
Katioxancoke 30 11 7,1 - - - 10Ca+ 3 +bn 57 0,80 1 19 24 300 2e e = 20 o
Kamioxkascexe 31 9 29,5 - - - 10C3+/13+bn 52 0,80 I 18 22 295 2e =% = 42 B
KaTioauchxe 31 12 2.7 - - - 9C31bn+/13 92 0,70 )i 24 32 350 2e B Lt 37 R
KatrokaHchke 31 18 1,0 - - - 10C3+bn+/i3 81 0,70 1 25 28 380 2e ~fa ~a 20 Rt
KaTmioxauceke 35 16 0,8 - - - 10C3 76 0,70 1 25 32 380 2 = e 20 s
KarioxaHcbke 3 | 15 1,2 - - - 4C3(80)6C3(62)+bn 80 0,60 1 25 32 300 2 = - 20 -
Katroxanchke 36 48 0,6 - - - 10C3+bn+/13 71 0,60 I 25 32 320 2 B s 40 R
KaTioxaHceke 39 5 4,0 - - - 6133C31Bbir+Oc¢ 105 0,70 I 26 32 320 2e = e 45 s
Karoxancoke 47 19 6,8 - - - 9C31bn 63 0,80 1 23 28 400 2e . B 20 e
KatioxaHchbke 58 10 4.4 - - - 8C32/13+bn 86 0,75 I 28 36 450 2e e P 48 Bt
Kamoxauceke 59 11 03 - - - 10C3+[I3+bn 81 0,70 1A 28 36 440 2¢e B = 20 Rl
Karromxanceke 59 19 1,9 - - - 10C3+/I3 91 0,70 1A 30 36 480 2e = - 20 B
Kamoxancrke 60 1 4,7 - - - 10Cs+[I3+bn 65 0,65 1 24 28 330 2e B s 45 e
KarroxaHceke 60 3 11,0 - - - 10C3+/I3+bn 57 0,70 1A 24 28 360 2e = s 20 -
KaTioxanceke 60 14 4.0 - - - 10C3+bn+]13 70 0,70 1A 28 32 440 2e P Bt 20 s
Katroxanceke 60 15 42 - - - 10C3+/3+Bn 77 0,75 1A 27 32 460 2e EaS - 20 -
KarioxaHnceke 60 20 7,7 - - - 7H33C3 140 0,70 i 28 40 390 2e B - 20 Bl
Kamioxancbke 60 24 0.8 - - - 10C3+]13 86 0,70 1A 31 36 490 2¢e =a Bt 48 e
KaTroxancbke 60 25 1,2 - - - 10C3+Brn+/I3 71 0,70 1A 28 32 440 2e B ) 48 <
Kamoxarcoke 61 11 2,9 - - - 7133C3 121 0,65 1 28 40 320 2e e - 45 s
KaTioxancexe 61 20 1,3 - - - 10C3+H1I3 76 0,70 TA 29 32 460 2e ) = 45 -
KatioxaHcbke 61 22 0,3 - - - 10]{3+Bn 111 0,70 11 27 36 350 2e s = 45 B
KatioxaHcbke 61 23 0,5 - - - 10C3+13+bn 76 0,70 1A 29 36 460 2e B e 45 e
KaTioxaHceke 62 11 4,7 - - - 10C3+bn 66 0,70 1A 25 28 380 2¢e R B 20 s
Katioxaucexe 63 13 0,8 - - - 10C3tbn+/13 66 0,75 I 22 24 340 2e [ s 30 -
Katiokaucpke 63 14 0,6 - - - 9C31bn 66 0,60 1 23 28 270 2e . B 20 s
Karioxascbke 73 5 4,7 - - - 10C3+bn 71 0,70 1A 26 32 400 2e B - 40 B
KaTioxaHcbKe 73 11 1,7 - - - 10C3+/I3+bn 86 0,70 1 27 36 420 2e - - 40 -
KarioxaHcbke 73 19 1,4 - - - 9C31bn+Oc¢ 66 0,70 I 24 28 350 2e Bt = 30 e
Karioxancere 81 33 02 - - - 10bn+O0c+C3 71 0,35 11 21 24 100 2 - -2 40 e
KatioxxaHcbke 81 38 1,0 - - - 10C3 66 0,70 1 23 28 355 2 = = 40 R
KaTioxaucbke 81 42 1,5 - - - 9C31Bn 51 0,70 1A 22 28 310 2 =5 = 30 e
Katioxasceke 81 47 0,2 - - - 10C3 64 0,60 1 23 32 290 2e B = 30 B
Katioxascbke 82 5 1,3 - - - 10C3+/13 91 0,60 I 26 32 340 2e B = 40 e
KatroxaHcpke 82 47 1,1 - - - 10Cs 91 0,60 1A 30 36 380 2e B - 40 e
Katioxauceke 82 48 0,4 - - - 9C3113+Bn 106 0,60 11 27 36 350 2e e ~a 40 e
KatioxaHceke 82 49 0,4 - - - 10C3 41 0,70 ) 16 18 200 2e B =%a 40 )
Katioxanceke 82 65 0,2 - - - 10Ca+/13+bn 63 0,60 1A 24 28 310 2 -a = 40 -
KaTioxancbke 82 67 0,1 - - - 10Cs3 91 0,60 1A 30 36 410 2 e s 25 s
KatroxaHceke 82 70 0,2 - - - 10C3+/13+bn 91 0,50 I 27 32 300 2 =% = 25 R




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
KatioxaHceke 82 71 0,9 10C3+/I3+bn 63 0,70 1A 24 28 360 2 BHGipKkoBa | INomkomxenns 30 3rigHo
Katioxauceke 82 75 0,1 10C3+/I3+bn 111 0,60 I 30 40 410 2 caHitapHa | crosGyposmvm 35 marepianin
KaTioaHcbke 82 76 0,7 10Ca+/13 64 0,70 1A 25 28 380 2 py0xa K HAKAMH 40 JiCBIOPAAKYBaHHS
KaTioxaHceke 86 8 1,7 9C31]/1a+I'3+bn 76 0,60 1A 27 32 340 2 = - 28 s
Kamoxaucbke 86 12 3.1 9C31 3+3 76 0,70 1A 28 32 420 2 & B 20 <
Kamnoxanceke 87 22 6,4 10C3 56 0,70 1 20 24 280 2e: = - 20 <
KatiosnaHceke 91 1 2,5 10C3 56 0,85 I 19 24 323 2e B s 40 .
KatioxaHceke 91 2 28.0 10C3 56 0,85 1A 23 28 425 2e “u oS 48 <

Pynnsuceke 12 17 1,0 7C3(111)2C3(75)1 A3 111 0,55 m 23 36 230 4e B =< 30 e
Pynusiacrke 16 13 1,4 10C3+/3+bn 79 0,65 I 24 28 330 4e =« - 20 ‘o
Pyaussceke 16 17 1,8 10C3+Bn+3 57 0,75 1 21 22 330 4e = = 20 s
Pynusrcbke 17 22 1,0 10C3+[I3+br+3 66 0,70 1 24 26 370 4e = < 30 =
Pynusucoke 18 7 6,5 813131 Bnu 116 Q,55 I 25 44 240 4 = < 40 o
PynusHcbke 25 1 10,0 10Cs+/I3+Bn 51 0,80 I 20 22 320 4e P - 25 =
Pynusscrke 25 8 4,9 10C3+/I3 56 0,85 1 21 20 360 4e B B 30 “u
Pynusscbxe 31 18 2.1 10C3+br+/I3+0c¢ 66 0,70 1 24 28 360 4e “y = 45 “a
Pynusanchke 32 9 1,2 10C3+/3+bn 66 0,65 1 24 28 340 4e B s 20 .
PynusHchke 36 26 0,1 10C3 63 0,65 I 22 24 300 4e “ “ 45 -
PynusHchke 37 19 5,9 9C31Bn 40 0,80 I 17 18 260 4e B - 20 <
PyausaHchke 37 30 1,1 10C3+bn+/[3+3 61 0,70 1A 25 28 380 4e =< “ 45 a
Pynusancbke 50 20 3,9 10C3+/13 66 0,70 I 22 26 320 4e < B 30 =
PynusHCchKe 51 1,0 10C3+3 59 0,70 1A 23 22 340 4e B < 20 s
Pynusscbke 57 7,0 8C32Bbn+a3 71 0,65 I 23 28 280 4e o “ 25 -
PyausHcbke 57 10 7.7 10C3+3+Bn 63 0,70 I 23 24 350 4e & . 25 <
PyaHAHCEKE 60 21 1,8 10C3+Bn+]I3 92 0,60 I 26 36 340 4e < “ 30 “u
Pynusnchre 61 8 49 9C31Ji3+bn 82 0,70 1 25 32 350 4e = « 30 “
PynusHCbKe 68 3 4.8 10C3+/I3+bn 86 0,68 1 25 30 370 4e B “ 40 -
Pynusceke 68 5 2,0 8C32/I3+bn 81 0,65 1 24 32 270 4e “ - 40 -
Pynusscbke 68 11 37,0 9C31Bu+/13 66 0,70 I 21 22 270 4e . B 40 £
PynusHCBKE 92 68 2.0 10C3 56 0,70 1 21 22 300 4e R o 40 “
Pynusaucoke 92 70 2,9 10C3 56 0,70 I 21 20 280 4e . - 30 “
SIcHoroponceke 46 24 2,8 10C3 61 0,70 I 22 26 320 3e - - 30 =
JIlutBHHIBCHKE 1 0,5 10C3+]I3+bn 61 0,80 I 22 24 370 2e = “ 20 B
JlutBuHiBCHKE 3 3,0 7C32Bnl 3 49 0,80 I 20 22 280 2e o Bt 20 “a
JlutBHHIBCEKE 13 16 8,5 10C3+bn 91 0,70 1A 30 40 450 2e < ‘e 20 “
JlutBuHIBCEKE 13 17 3,0 10C3+br+13 81 0,85 1A 29 36 550 2e B ‘o 20 s
JIuTeuHIBCHKE 16 1 2,0 6C33Bbn1/13+0c¢ 66 0,85 1A 25 28 375 2e “n ‘. 20 ‘-
JlutBHHiBCEKE 17 17 25,0 7C33/13+bn 61 0,85 1A 24 26 380 2e < s 40 X
JIuTBHHIBCEKE 25 1 1,3 9C31d3+bn 96 0,70 1A 30 40 470 2e e < 23 -
JIuTBHHIBCEKE 25 2 1,4 7C333+0c+Bn 61 0,80 1A 26 30 400 2e = < 22 .
JlutBuHiBCHKE 25 3 40 10C3 86 0,85 1A 29 36 550 2e < u 20 =
JlutBuHiBCHLKE 41 11 0,6 10C3+Bn 46 0,70 1 18 22 250 2e “u = 20 =<
JlutBuHIBCHKE 41 12 0,5 10Ca 46 0,80 1 18 22 280 2e = o 20 .
Kamsuacrke 11 8 32 8C311315n+0c¢ 66 0,60 1A 25 28 300 2e “a S 50 e
KamsHchke 45 23 4,1 7033Ca+Bn+3 131 0,60 n 26 40 300 2 o < 30 £
Kamsincbke 45 24 2,0 7C3313+Bo+T3+Knr 131 0,50 1 32 48 340 2 R & 47 -
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K 1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
Kamsikcsie 87 19 9.6 10C3x 48 | ogo I 19 2| 304 2¢ | npuGipxosa K‘;‘;‘;}:’a 50 arimso
+
Kamsicnke 90 36 22,0 TCABS)ICaES ARG 85 0,60 I 27 36 340 2 caHiTapHa Tomxomkera 53 Marepiainis
bu CcTOBOYPOBAMHU
BCbHOI'O 4895 pyOKa HIKIIHHKAMY JTICBHOPS IKYBaHHS
OupekTop Al "Oumepcbke nicose rocnogapcTeo” B.l. Mnywerko




